
11

EXPLODED DRAWING—Model No. GZFW2174.2 R0207A

722

4
4

3

18

18

2

41
7

15

14

28
28

8

13

21

21

21

21
21

21

21
21

21

21

12

11

1

9

22

22

28

28

29

29 30

31

40

32

33
3340

31

31
30

30

32
33

33

20

26

26

19

19

56

16

16
25

25

17

10

21

21

21
21

26
35

36

38
37

34

34

43
39

42

43
39

42

31

31

38

23

23

27

27

42

4227

27

42

4234

34

24

45

44 46

4748 49

49

49

48 49

47

47

49

49
48



Bubble # OEM Number Description
13 GZ3752 SAFETY STOP
15 GZ3751 LONG PIVOT BAR
17 GZ1032-01 RED HANDLE
18 GZ1032-01 BLACK HANDLE
19 GZ1001 SPACER
21 GZ1021-01 RIVET
23 GZ1191 BUMPER RING
24 126960 1" HOLE PLUG
25 GZ1009-04 1/2" X 4 1/2" BOLT
26 GZ1109 1/2" NYLON LOCKNUT
27 GZ1052 1" SMALL NYLON WASHER
28 GZ1013-12 3/8" X 1 1/2" BOLT
29 GZ1025 NYLON SPACER
30 GZ1067 SPACER
31 GZ1069 3/8" WASHER
32 GZ3079 SHOULDER PAD PLATE
33 GZ1038-04 3/8" X 1" FLAT HEAD SCREW
36 GZ1009-02 1/2" X 3" BOLT
37 GZ1168 TETHER
40 GZ1069 3/8" SERRATED WASHER
41 GZ1014-01 3/8" X 1" BOLT
42 GZ1018-01 1" RETAINER RING
43 GZ1011-01 1" BEARING
44 GZ1100 BUMPER
45 GZ1015-01 5/16" X 1" SCREW
46 GZ1028 5/16" NUT

# GZ7362 OWNER'S MANUAL

https://www.gympart.com/itemdesc.aspx?ic=FMS10065&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS130&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10068&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMC1075&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS174&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10043&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10044&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10071&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10040&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10022&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS189&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS011&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10072&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10063&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10063&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS564&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10067&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10047&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS563&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS563&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10006&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10066&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10069&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10064&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10036&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10062&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10061&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams
https://www.gympart.com/itemdesc.aspx?ic=FMS10070&utm_source=pdf-links&utm_medium=pdfs&utm_campaign=exploded-diagrams

